VCD - 3’,0’5’
: ulSOry.
NOTE :
= (each 4
: h 5 marks)
3)
Ql. (a)
1) Fora,b,c €
‘ E .
fE<b+c
) = a<c¢
0 = ac < be
. ddition of IR = set of real numbers.
(b)
1) Find LUB and G
Bound
GM inequality of IR.
dorff property of neighbourhood. {
hvergent sequence then itis bounded.
Q2. ach 8] ’
1) State 'brem for sequence. Hence discuss the
' _, ‘
conv 1 ;
2) De i IR and show that following
seq
‘ b 1.5k i 2
0) )a, = 145 +7 1
(b)
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1) : Mrgine whether the fouow;,,g seq

3)  Stateand prove Cauchy complete

4)  Definea Subsequence and prové

- IR has convergent subsequence
Q3. (a Attempt any ope. [each 8]

1) Let £, g be real valued function defineq on ‘

limye o f(x) =1, hmx_,a

lim, f(x) 9(x) =1,

2) prove that lim, _, , £ (x) =1

converging to g (x, #a
(b)  Attempt any three. [each 4]

1) Define the following functions

i) Constant function

o
¢

ii) Absolute value fun E’
2) Prove that Let f be real value: LetPel,if
lim,_p f(x) exists then it is I

3)  Define right hand and left han

/ ! nd left hand limits
f as lim,_,p f(x) in following

!'vvf(x)=x—1 fOT'XS:

1-x  for %

interval in IR

i ood P € IR is the n
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